MODULATION INSTABILITY AND OPTICAL SOLITONS OF RADHAKRISHNAN-KUNDU-LAKSHMANAN MODEL

Nauman Raza¹ and Ahmad Javid^{1,†}

Abstract This paper studies the solitons of Radhakrishnan-Kundu-Lakshmanan (RKL) model with power law nonlinearity. The modified simple equation method and $\exp(-\varphi(q))$ method are presented as integration mechanisms. Dark, bright, singular and periodic soliton solutions are extracted as well as the constraint conditions for their existence. A prized discussion on the stability of these soliton profiles on the basis of index of the power law nonlinearity is also carried out with the help of physical description of solutions. The integration techniques have been proved to be extremely efficient and robust to find new optical solitary wave solutions for various nonlinear evolution equations describing optical pulse propagation. Moreover, using linear stability analysis, modulation instability of the RKL model is studied. Different effects contributing to the modulation instability spectrum gain are analyzed.

Keywords Optical solitons, constraints, modified simple equation method, $\exp(-\varphi(q))$ method, modulation instability.

MSC(2010) 78A60, 35Q51, 35Q55.

1. Introduction

Self localized waves or solitons have received a lot of attention in the context of numerous engineering and physical sciences in recent times [15, 22, 25, 30]. Despite of being the reality of the modern world, research in the theory of optical solitons have not slowed down. Researchers have been reporting new results on regular basis. The advancement of telecom business completely depends on the dynamical behaviour of these solitons in optical wave guides. The dynamics of soliton propagation have been forged through a number of mathematical models [1, 5-10, 14, 16, 17, 21, 23, 31-33]. The (RKL) model has been the part of many recent studies to narrate the propagation of optical pulses through optical fibres. Optical fibre is a new kind of medium consisting of two concentric cylindrical layers of glass. The light propagates through the inner layer known as core with refractive index n_1 while the exterior layer known as cladding with refractive index n_2 lower than n_1 guaranteeing that the light pulses are reflected back to the core. Optical fibres communication systems function between the micrometer wavelength zone of frequency spectrum. In this work, the

[†]the corresponding author. Email address:ahmadjavid001@gmail.com(A.

Javid)

¹Department of Mathematics, University of the Punjab, Lahore, Pakistan

RKL model is considered with the power law nonlinearity. Such kind of nonlinear response is observed in semiconductors. The modified simple equation and $\exp(-\varphi(q))$ method are used to carry out the integration of the RKL model. A variety of exact solutions including, dark, bright, singular and periodic solutions are retrieved. Also a valuable discussion on the index of power law nonlinearity have been made and stability of the soliton solutions is discussed through graphical depictions.

The generalized RKL equation is studied to inspect the passage of optical solitons in different kinds of irregular media [4,12,26]. In dimensionless form, it is given as

$$ip_t + ap_{xx} + bF(|p|^2)p = i\lambda \{F(|p|^2)p\}_x - i\gamma p_{xxx}.$$
(1.1)

In Eq. (1.1), a is the coefficient of group velocity dispersion and b represents the coefficient of the generalized type of irregularity. F represents the kind of nonlinear medium under investigation. On the right hand side of Eq. (1.1), third order dispersion coefficient is denoted by γ and the self-steepening coefficient is λ . The theme of the current work is to solve the Eq. (1.1) for the specific nonlinear medium through two integration tools.

The power law nonlinearity crops up in nonlinear plasmas in weak turbulence theory as well as in nonlinear optics. Several kinds of materials including semi conductors exhibit power law nonlinearity [3]. So, the RKL equation incorporating of power law nonlinearity which is given by the functional $F(q) = q^m$. It is mandatory to have 0 < m < 2 and also $m \neq 2$ [11,18,19] for the stability of the soliton solutions. Thus the governing equation (1.1) takes the form

$$ip_t + ap_{xx} + b(|p|^{2m})p = i\lambda\{(|p|^{2m})p\}_x - i\gamma p_{xxx}.$$
(1.2)

Consider

$$p(x,t) = U(q)e^{i\phi(x,t)},$$
(1.3)

where

$$q = x - vt. \tag{1.4}$$

In (1.3), U(q) stands for the amplitude while velocity is denoted by v whereas the phase of the soliton is $\phi(x, t)$ which is defined as

$$\phi(x,t) = -\kappa x + \omega t + \theta. \tag{1.5}$$

Here θ , ω and κ , denotes the phase constant, wave number and frequency respectively. Putting Eqs. (1.3)-(1.5) into Eq. (1.2) and separating the real and imaginary parts, we retrieve

$$(\omega + a\kappa^2 + \gamma\kappa^3)U - (b - \lambda\kappa)U^{2m+1} - (a + 3\gamma\kappa)U'' = 0,$$
(1.6)

and

$$v + 2a\kappa^2 + 3\gamma\kappa^2)U' + \lambda(2m+1)U'U^{2m} + \gamma U''' = 0.$$
 (1.7)

Integrating Eq. (1.12), we get

$$(v + 2a\kappa + 3\gamma\kappa^2)U + \lambda U^{2m+1} + \gamma U'' = 0.$$
(1.8)

Balancing U^{2m+1} and U'', we get

$$(2m+1)N = N+2$$
 implies $N = \frac{1}{m}$. (1.9)

In order to get solution in closed form, we introduce a new transformation

$$U(x,t) = \phi^{1/2m}(x,t).$$
(1.10)

Eq. (1.10) transforms Eqs. (1.6) and (1.8) into

$$4m^{2}(\omega + a\kappa^{2} + \gamma\kappa^{3})\phi^{2} - 4m^{2}(b - \lambda\kappa)\phi^{3} - (a + 3\gamma\kappa)\{(1 - 2m)(\phi')^{2} + 2m\phi\phi''\} = 0,$$
(1.11)

and

$$4m^{2}(v+2a\kappa+3\gamma\kappa^{2})\phi^{2}+4m^{2}\lambda\phi^{3}+\gamma\{(1-2m)(\phi')^{2}+2m\phi\phi''\}=0.$$
 (1.12)

The rest of the paper is systemized as follow: In "The modified simple equation method" subsection, the modified simple equation method is discussed and applied on Eqs. (1.11) and (1.12). In " $\exp(-\varphi(q))$ method" subsection the $\exp(-\varphi(q))$ method and its application on Eqs. (1.11) and (1.12) are inspected. Modulation instability analysis is carried out in the third section while the results obtained are presented and discussed in the section "Results and Discussion". Finally, the paper is concluded in the "Conclusions" Section.

2. Methods

2.1. Modified simple equation approach

In this subsection, we integrate the RKL equation through modified simple equation method [13,24] incorporating power law media. To start of, it is assumed that Eqs. (1.11) and (1.12) has the following solution form

$$\phi(q) = \sum_{i=0}^{N} a_i \left(\frac{\psi'(q)}{\psi(q)}\right)^i,\tag{2.1}$$

where a_i and $\psi(q)$ are the unknowns, provided $a_N \neq 0$.

Balancing ϕ^3 and $\phi\phi''$ in Eqs. (1.11) and (1.12), we have

$$N = 2. \tag{2.2}$$

Thus, from Eq. (2.1), Eqs. (1.11) and (1.12) accepts the subsequent form of solution

$$U(q) = a_0 + a_1 \left(\frac{\psi'(q)}{\psi(q)}\right) + a_2 \left(\frac{\psi'(q)}{\psi(q)}\right)^2, \qquad (2.3)$$

where a_0 , a_1 and a_2 are the constants to be determined such that $a_2 \neq 0$. By putting (2.3) into Eqs. (1.6) and (1.8), a system is extracted by comparing the coefficients of ψ^{-j} , j = 0, 1, 2, 3, 4, 5, 6 to zero, a bunch of algebraic equations is fetched as follows:

 ψ^{-0} coeff:

$$4 m^2 \gamma \kappa^3 a_0{}^2 + 4 m^2 \lambda \kappa a_0{}^3 + 4 m^2 a \kappa^2 a_0{}^2 - 4 m^2 b a_0{}^3 + 4 m^2 \omega a_0{}^2 = 0,$$

$$4 m^2 v a_0{}^2 + 12 m^2 \gamma \kappa^2 a_0{}^2 + 8 m^2 a \kappa a_0{}^2 + 4 m^2 \lambda a_0{}^3 = 0,$$

$$\begin{split} \psi^{-1} \operatorname{coeff:} & (-12 \, m^2 b a_0^2 a_1 + 8 \, m^2 \gamma \, \kappa^3 a_0 a_1 + 8 \, m^2 \omega \, a_0 a_1 + 12 \, m^2 \lambda \kappa \, a_0^2 a_1 \\ & + 8 \, m^2 a \kappa^2 a_0 a_1 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right) - (2 \, a m a_0 a_1 + 6 \, \gamma \, \kappa \, m a_0 a_1) \left(\frac{d^3}{d\xi^3} \psi \left(\xi \right) \right) = 0, \\ & (8 \, m^2 v a_0 a_1 + 24 \, m^2 \gamma \, \kappa^2 a_0 a_1 + 12 \, m^2 \lambda \, a_0^2 a_1 + 16 \, m^2 a \kappa \, a_0 a_1 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right) \\ & + 2 \, \gamma \, m a_0 a_1 \left(\frac{d^3}{d\xi^3} \psi \left(\xi \right) \right) = 0, \\ \psi^{-2} \operatorname{coeff:} & (-12 \, \gamma \, \kappa \, m a_0 a_2 - 4 \, a m a_0 a_2 - 2 \, a m a_1^2 - 6 \, \gamma \, \kappa \, m a_1^2 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right) \left(\frac{d^3}{d\xi^3} \psi \left(\xi \right) \right) \\ & + (6 \, \gamma \, \kappa \, m a_1^2 - 3 \, \gamma \, \kappa \, a_1^2 - 4 \, a m a_0 a_2 - a a_1^2 - 12 \, \gamma \, \kappa \, m a_0 a_2 + 2 \, a m a_1^2 \right) \left(\frac{d^2}{d\xi^2} \psi \left(\xi \right) \right) \\ & + (18 \, \gamma \, \kappa \, m a_0 a_1 + 6 \, a m a_0 a_1) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right) \left(\frac{d^2}{d\xi^2} \psi \left(\xi \right) \right) + \left(8 \, m^2 \gamma \, \kappa^3 a_0 a_2 + 8 \, m^2 \omega \, a_0 a_2 \right) \\ & + 8 \, m^2 a \kappa^2 a_0 a_2 + 4 \, m^2 \gamma \, \kappa^3 a_1^2 + 4 \, m^2 a \kappa^2 a_1^2 + 12 \, m^2 \lambda \, \kappa \, a_0 a_1^2 \\ & - 12 \, m^2 b a_0^2 a_2 - 12 \, m^2 b a_0 a_1^2 + 4 \, m^2 \omega \, a_1^2 + 12 \, m^2 \lambda \, \kappa \, a_0^2 a_2 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^2 = 0, \\ & (4 \, \gamma \, m a_0 a_2) \left(\frac{d^2}{d\xi^2} \psi \left(\xi \right) \right)^2 - 6 \, \gamma \, m a_0 a_1 \left(\frac{d^2}{d\xi^2} \psi \left(\xi \right) \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right) + \left(12 \, m^2 \lambda \, a_0^2 a_2 \right) \\ & + 12 \, m^2 \lambda \, a_0 a_1^2 + 12 \, m^2 \gamma \, \kappa^2 a_1^2 + 4 \, m^2 v a_1^2 + 24 \, m^2 \gamma \, \kappa^2 a_0 a_2 \\ & + 16 \, m^2 a \kappa \, a_0 a_2 + 8 \, m^2 a \kappa \, a_1^2 + 8 \, m^2 v a_0 a_2 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^2 = 0, \\ \psi^{-3} \operatorname{coeff:} \\ & (-6 \, a m a_1 a_2 - 18 \, \gamma \, \kappa \, m a_1 a_2) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^2 \left(\frac{d^3}{d\xi^3} \psi \left(\xi \right) \right) + \left(4 \, a m a_1 a_2 - 12 \, \gamma \, \kappa \, a_1 a_2 \right) \\ & (-4 \, m a_1 a_2 - 18 \, \gamma \, \kappa \, m a_1 a_2) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^2 \left(\frac{d^3}{d\xi^3} \psi \left(\xi \right) \right) + \left(4 \, a m a_1 a_2 - 12 \, \gamma \, \kappa \, a_1 a_2 \right) \\ & (-4 \, m a_1 a_2 - 12 \, \gamma \, \kappa \, a_1 a_2 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^2 \left(\frac{d^3}{d\xi^3} \psi \left(\xi \right) \right) + \left(4 \, a m a_1 a_2 - 12 \, \gamma \, \kappa \, a_1 a_2 \right) \\ & (-4 \, m a_1 a_2 - 12 \, \gamma \, \kappa \, a_1 a_2 \right) \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^$$

$$-4 aa_{1}a_{2} + 12 \gamma \kappa ma_{1}a_{2} \left(\frac{d}{d\xi} \psi(\xi) \right) \left(\frac{d^{2}}{d\xi^{2}} \psi(\xi) \right)^{2} + \left(20 ama_{0}a_{2} + 2 ama_{1}^{2} + 6 \gamma \kappa ma_{1}^{2} + 6 \gamma \kappa ma_{1}^{2} + 2 aa_{1}^{2} + 60 \gamma \kappa ma_{0}a_{2} \right) \left(\frac{d}{d\xi} \psi(\xi) \right)^{2} \left(\frac{d^{2}}{d\xi^{2}} \psi(\xi) \right) + \left(4 m^{2} \lambda \kappa a_{1}^{3} + 8 m^{2} \gamma \kappa^{3} a_{1}a_{2} - 24 m^{2} ba_{0}a_{1}a_{2} - 4 ama_{0}a_{1} - 12 \gamma \kappa ma_{0}a_{1} + 8 m^{2} a\kappa^{2} a_{1}a_{2} + 8 m^{2} \omega a_{1}a_{2} + 24 m^{2} \lambda \kappa a_{0}a_{1}a_{2} \right) \left(\frac{d}{d\xi} \psi(\xi) \right)^{3} = 0,$$

$$(4 \gamma a_{1}a_{2} - 4 \gamma ma_{1}a_{2}) \left(\frac{d}{d\xi} \psi(\xi) \right) \left(\frac{d^{2}}{d\xi^{2}} \psi(\xi) \right)^{2} + \left(-20 \gamma ma_{0}a_{2} - 2 \gamma ma_{1}^{2} - 2 \gamma a_{1}^{2} \right) \left(\frac{d}{d\xi} \psi(\xi) \right)^{2} \left(\frac{d^{2}}{d\xi^{2}} \psi(\xi) \right) + \left(16 m^{2} a\kappa a_{1}a_{2} + 24 m^{2} \lambda a_{0}a_{1}a_{2} \right)$$

$$+8 m^{2} v a_{1} a_{2} + 24 m^{2} \gamma \kappa^{2} a_{1} a_{2} + 4 m^{2} \lambda a_{1}^{3} + 4 \gamma m a_{0} a_{1} \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^{3} + 6 \gamma m a_{1} \left(\frac{d}{d\xi} \psi \left(\xi \right) \right)^{2} a_{2} \left(\frac{d^{3}}{d\xi^{3}} \psi \left(\xi \right) \right) = 0,$$

 ψ^{-4} coeff:

$$\left(-4 \, ama_{2}^{2} - 12 \, \gamma \, \kappa \, ma_{2}^{2}\right) \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{3} \left(\frac{d^{3}}{d\xi^{3}}\psi\left(\xi\right)\right) + \left(-12 \, \gamma \, \kappa \, a_{2}^{2}\right) \\ + 4 \, ama_{2}^{2} - 4 \, aa_{2}^{2} + 12 \, \gamma \, \kappa \, ma_{2}^{2}\right) \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{2} \left(\frac{d^{2}}{d\xi^{2}}\psi\left(\xi\right)\right)^{2} + \left(8 \, aa_{1}a_{2}\right) \\ + 10 \, ama_{1}a_{2} + 30 \, \gamma \, \kappa \, ma_{1}a_{2} + 24 \, \gamma \, \kappa \, a_{1}a_{2}\right) \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{3} \left(\frac{d^{2}}{d\xi^{2}}\psi\left(\xi\right)\right) + \left(-12 \, ama_{0}a_{2} - 12 \, m^{2}ba_{0}a_{2}^{2} + 4 \, m^{2}\omega \, a_{2}^{2} - 3 \, \gamma \, \kappa \, a_{1}^{2} - 36 \, \gamma \, \kappa \, ma_{0}a_{2} + 12 \, m^{2}\lambda \, \kappa \, a_{1}^{2}a_{2} \\ - 12 \, ama_{0}a_{2} - 12 \, m^{2}ba_{1}^{2}a_{2} - 6 \, \gamma \, \kappa \, ma_{1}^{2} + 12 \, m^{2}\lambda \, \kappa \, a_{0}a_{2}^{2} + 4 \, m^{2}\gamma \, \kappa^{3}a_{2}^{2} \\ - 2 \, ama_{1}^{2} - aa_{1}^{2} + 4 \, m^{2}a\kappa^{2}a_{2}^{2}\right) \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{4} = 0, \\ \left(4 \, \gamma \, a_{2}^{2} - 4 \, \gamma \, ma_{2}^{2}\right) \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{2} \left(\frac{d^{2}}{d\xi^{2}}\psi\left(\xi\right)\right)^{2} + \left(-8 \, \gamma \, a_{1}a_{2} - 10 \, \gamma \, ma_{1}a_{2}\right) \\ \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{3} \left(\frac{d^{2}}{d\xi^{2}}\psi\left(\xi\right)\right) + \left(12 \, m^{2}\gamma \, \kappa^{2}a_{2}^{2} + 12 \, \gamma \, ma_{0}a_{2} + 12 \, m^{2}\lambda \, a_{1}^{2}a_{2} \\ + \gamma \, a_{1}^{2} + 12 \, m^{2}\lambda \, a_{0}a_{2}^{2} + 4 \, m^{2}va_{2}^{2} + 2 \, \gamma \, ma_{1}^{2} + 8 \, m^{2}a\kappa \, a_{2}^{2}\right) \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{4} \\ + 4 \, \gamma \, ma_{2}^{2} \left(\frac{d}{d\xi}\psi\left(\xi\right)\right)^{3} \left(\frac{d^{3}}{d\xi^{3}}\psi\left(\xi\right)\right) = 0,$$

 ψ^{-5} coeff:

$$(12 \gamma \kappa ma_2^2 + 24 \gamma \kappa a_2^2 + 8 aa_2^2 + 4 ama_2^2) \left(\frac{d}{d\xi}\psi(\xi)\right)^4 \left(\frac{d^2}{d\xi^2}\psi(\xi)\right) + (-12 \gamma \kappa a_1a_2 - 8 ama_1a_2 - 12 m^2 ba_1a_2^2 - 24 \gamma \kappa ma_1a_2 + 12 m^2 \lambda \kappa a_1a_2^2 - 4 aa_1a_2) \left(\frac{d}{d\xi}\psi(\xi)\right)^5 = 0, (-4 \gamma ma_2^2 - 8 \gamma a_2^2) \left(\frac{d}{d\xi}\psi(\xi)\right)^4 \left(\frac{d^2}{d\xi^2}\psi(\xi)\right) + (12 m^2 \lambda a_1a_2^2 + 4 \gamma a_1a_2 + 8 \gamma ma_1a_2) \left(\frac{d}{d\xi}\psi(\xi)\right)^5 = 0,$$

 ψ^{-6} coeff:

$$\left(-4 m^2 b a_2{}^3 - 12 \gamma \kappa m a_2{}^2 - 4 a a_2{}^2 - 12 \gamma \kappa a_2{}^2 + 4 m^2 \lambda \kappa a_2{}^3 - 4 a m a_2{}^2\right) \left(\frac{d}{d\xi}\psi(\xi)\right)^6 = 0,$$

$$\left(4\gamma m a_2{}^2 + 4m^2\lambda a_2{}^3 + 4\gamma a_2{}^2\right) \left(\frac{d}{d\xi}\psi(\xi)\right)^6 = 0,$$

Solving the aforementioned system of algebraic equations, we have **Case1**:

$$\begin{split} \kappa &= \frac{1}{4} \frac{-\lambda a + \gamma b}{\gamma \lambda}, \\ \omega &= -\frac{1}{32} \frac{-a^3 \lambda^3 - 9 \,\lambda^2 a^2 \gamma \, b + 5 \,\lambda \, a \gamma^2 b^2 + 8 \,\lambda^3 a v \gamma + 5 \,\gamma^3 b^3 + 24 \, b \gamma^2 v \lambda^2}{\gamma^2 \lambda^3}, \\ a_0 &= 0, \ a_1 &= \pm \frac{\gamma \, (m+1) \, \sqrt{-\frac{1}{4} \, \frac{-5 \,\lambda^2 r^2 + 2 \,\lambda \, r b \gamma + 3 \, b^2 \gamma^2 + 16 \, v \gamma \, \lambda^2}}{\lambda^2 m}, \ a_2 &= -\frac{\gamma \, (m+1)}{m^2 \lambda}, \end{split}$$
(2.4)

$$\left(\frac{d^3}{d\xi^3}\psi\left(\xi\right)\right) = -\frac{1}{4} \frac{\left(\frac{d}{d\xi}\psi\left(\xi\right)\right)m^2\left(-5\lambda^2r^2 + 2\lambda rb\gamma + 3b^2\gamma^2 + 16v\gamma\lambda^2\right)}{\lambda^2\gamma^2},\qquad(2.5)$$

$$\left(\frac{d^2}{d\xi^2}\psi\left(\xi\right)\right) = \pm \frac{\sqrt{-\frac{1}{4}\frac{-5\,\lambda^2r^2 + 2\,\lambda\,rb\gamma + 3\,b^2\gamma^2 + 16\,v\gamma\,\lambda^2}{\gamma^2}}m\left(\frac{d}{d\xi}\psi\left(\xi\right)\right)}{\lambda},\tag{2.6}$$

From Eqs. (2.5) and (2.6), we have

$$\psi\left(\xi\right) = c_1 + c_2 e^{\pm \frac{1}{2} \frac{\sqrt{-16 v\gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma - 3 b^2 \gamma^2 m \xi}}{\gamma \lambda}},$$
(2.7)

and

$$\psi'(\xi) = \pm \frac{1}{2} \frac{c_2 \sqrt{-16 v\gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma - 3 b^2 \gamma^2} mH}{\gamma \lambda}, \qquad (2.8)$$

where c_1 and c_2 are arbitrary constants. So, using Eqs. (2.7) and (2.8) in Eq. (2.3) and simplification gives

$$p(x,t) = \left\{ \mp \frac{1}{4} \frac{(m+1) \left(16 v\gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b\gamma + 3 b^2 \gamma^2 \right) c_2 H}{\gamma \lambda^3 \left(c_1 + c_2 H \right)^2} \right\}^{\frac{1}{2m}} \times e^{i(-\kappa x + \omega t + \theta)},$$
(2.9)

where κ and γ are given above and $H = e^{\pm \frac{1}{2} \frac{\sqrt{-16 v\gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma - 3 b^2 \gamma^2 m \xi}}{\gamma \lambda}}$. Setting $c_1 = \pm 1$ and $c_2 = e^{\pm \frac{1}{2} \frac{\sqrt{-16 v\gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma - 3 b^2 \gamma^2 m}}{\gamma \lambda} \xi_0}$

$$p(x,t) = \left\{ \pm \frac{1}{16} \frac{(m+1)\left(16\,v\gamma\,\lambda^2 - 5\,\lambda^2 a^2 + 2\,\lambda\,ab\gamma + 3\,b^2\gamma^2\right)}{\gamma\lambda^3} \\ \times \sec h^2 \left[\frac{1}{4} \frac{\sqrt{-3\,b^2\gamma^2 + (-16\,v\lambda^2 - 2\,\lambda\,ab)\,\gamma + 5\,\lambda^2 a^2}m\left(\xi + \xi_0\right)}{\gamma\,\lambda} \right] \right\}^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}, \tag{2.10}$$

$$p(x,t) = \begin{cases} \pm \frac{1}{16} \frac{(m+1)\left(16 v\gamma \lambda^2 - 5\lambda^2 a^2 + 2\lambda a b\gamma + 3b^2 \gamma^2\right)}{\gamma \lambda^3} \end{cases}$$

$$\times \operatorname{csc} h^{2} \left[\frac{1}{4} \frac{\sqrt{-3 b^{2} \gamma^{2} + (-16 v \lambda^{2} - 2 \lambda ab) \gamma + 5 \lambda^{2} a^{2}} m \left(\xi + \xi_{0}\right)}{\gamma \lambda} \right] \right\}^{\frac{1}{2m}} \times e^{i(-\kappa x + \omega t + \theta)}, \qquad (2.11)$$

where Eqs. (2.10) and (2.11) respectively denotes the bright and singular soliton solutions which hold for $-3b^2\gamma^2 + (-16v\lambda^2 - 2\lambda ab)\gamma + 5\lambda^2a^2 > 0$.

$$p(x,t) = \begin{cases} \pm \frac{1}{16} \frac{(m+1)\left(16\,v\gamma\,\lambda^2 - 5\,\lambda^2a^2 + 2\,\lambda\,ab\gamma + 3\,b^2\gamma^2\right)}{\gamma\lambda^3} \\ \times \sec^2\left[\frac{1}{4}\,\frac{\sqrt{-(-3\,b^2\gamma^2 + (-16\,v\lambda^2 - 2\,\lambda\,ab)\,\gamma + 5\,\lambda^2a^2)}m\,(\xi + \xi_0)}{\gamma\,\lambda}\right] \end{cases}^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}, \tag{2.12}$$

$$p(x,t) = \left\{ \pm \frac{1}{16} \frac{(m+1)\left(16\,v\gamma\,\lambda^2 - 5\,\lambda^2 a^2 + 2\,\lambda\,ab\gamma + 3\,b^2\gamma^2\right)}{\gamma\lambda^3} \\ \times \csc^2\left[\frac{1}{4}\frac{\sqrt{-(-3\,b^2\gamma^2 + (-16\,v\lambda^2 - 2\,\lambda\,ab)\,\gamma + 5\,\lambda^2 a^2)}m\,(\xi + \xi_0)}{\gamma\lambda}\right]\right\}^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}, \tag{2.13}$$

where Eqs. (2.12) and (2.13) denotes the periodic singular soliton solutions. These solutions remain valid until $-3 b^2 \gamma^2 + (-16 v \lambda^2 - 2 \lambda ab) \gamma + 5 \lambda^2 a^2 < 0$.



Figure 2. 2-D plot of solution given in Eq. (2.10) for different value of index m.

Case2:

$$\kappa = \frac{1}{4} \frac{-\lambda a + \gamma b}{\gamma \lambda}, \quad m = 1,$$



Figure 1. Graphical depiction of solutions given in Eqs. (2.10) respectively with suitable choice of parameters.

$$\omega = -\frac{1}{32} \frac{-a^3 \lambda^3 - 9 \,\lambda^2 a^2 \gamma \,b + 5 \,\lambda \,a \gamma^2 b^2 + 8 \,\lambda^3 a v \gamma + 5 \,\gamma^3 b^3 + 24 \,b \gamma^2 v \lambda^2}{\gamma^2 \lambda^3}$$
$$a_0 = -\frac{1}{16} \frac{-5 \,\lambda^2 a^2 + 2 \,\lambda \,a b \gamma + 3 \,b^2 \gamma^2 + 16 \,v \gamma \,\lambda^2}{\lambda^3 \gamma}, \quad a_2 = -2 \,\frac{\gamma}{\lambda} \tag{2.14}$$

$$a_{1} = 2\gamma \frac{\sqrt{-\frac{1}{8} \frac{-3b^{2}\gamma^{2} - 16 v\gamma \lambda^{2} + 5\lambda^{2}a^{2} - 2\lambda ab\gamma}{\gamma^{2}}}}{\lambda^{2}},$$

$$\left(\frac{d^{3}}{d\xi^{3}}\psi(\xi)\right) = \frac{1}{8} \frac{\left(\frac{d}{d\xi}\psi(\xi)\right)\left(-5\lambda^{2}a^{2} + 2\lambda ab\gamma + 3b^{2}\gamma^{2} + 16 v\gamma \lambda^{2}\right)}{\gamma^{2}\lambda^{2}},$$
(2.15)

and

$$\left(\frac{d^2}{d\xi^2}\psi\left(\xi\right)\right) = \frac{\sqrt{-\frac{1}{8}\frac{-3\,b^2\gamma^2 - 16\,v\gamma\,\lambda^2 + 5\,\lambda^2a^2 - 2\,\lambda\,ab\gamma}{\gamma^2}}\left(\frac{d}{d\xi}\psi\left(\xi\right)\right)}{\lambda}.$$
(2.16)

From Eqs. (2.15) and (2.16), we have

$$\psi(\xi) = c_1 + c_2 e^{\frac{1}{4} \frac{\sqrt{6 b^2 \gamma^2 + 32 v\gamma \lambda^2 - 10 \lambda^2 a^2 + 4 \lambda a b \gamma \xi}}{\gamma \lambda}}, \qquad (2.17)$$

and

$$\psi' = \frac{1}{4} \frac{c_2 \sqrt{6 b^2 \gamma^2 + 32 v \gamma \lambda^2 - 10 \lambda^2 a^2 + 4 \lambda ab \gamma} e^{\frac{1}{4} \frac{\sqrt{6 b^2 \gamma^2 + 32 v \gamma \lambda^2 - 10 \lambda^2 a^2 + 4 \lambda ab \gamma \xi}}{\gamma \lambda}}}{\gamma \lambda},$$

$$(2.18)$$

where c_1 and c_2 are arbitrary constants. So, by using Eqs. (2.17) and (2.16) in Eq. (2.3) gives

$$p(x,t) = \left\{ -\frac{1}{16} \frac{3 b^2 \gamma^2 + 16 v \gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma}{\lambda^3 \gamma} + \frac{1}{4} \frac{\left(3 b^2 \gamma^2 + 16 v \gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma\right) c_2 e^{\frac{1}{4} \frac{\sqrt{2} \sqrt{3 b^2 \gamma^2 + 16 v \gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma}(\xi)}{\gamma \lambda}}}{\lambda^3 \gamma \left(c_1 + c_2 e^{\frac{1}{4} \frac{\sqrt{2} \sqrt{3 b^2 \gamma^2 + 16 v \gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma}(\xi)}{\gamma \lambda}} \right)^2 \right\}^{\frac{1}{2m}} \times e^{i(-\kappa x + \omega t + \theta)}.$$
(2.19)

By setting $c_1 = \pm 1$ and $c_2 = e^{\frac{1}{4} \frac{\sqrt{2}\sqrt{3 b^2 \gamma^2 + 16 v\gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma(\xi_0)}{\gamma \lambda}}$, we have

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{3b^2\gamma^2 + 16v\gamma\lambda^2 - 5\lambda^2a^2 + 2\lambda ab\gamma}{\lambda^3\gamma} \\ \left(1 - \sec h^2 \left[\frac{1}{8} \frac{\sqrt{2}\sqrt{3b^2\gamma^2 + (2\lambda ab + 16v\lambda^2)\gamma - 5\lambda^2a^2} \left(\xi + \xi_0\right)}{\gamma\lambda}\right]\right)^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}, \tag{2.20}$$

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{3b^2\gamma^2 + 16v\gamma\lambda^2 - 5\lambda^2a^2 + 2\lambda ab\gamma}{\lambda^3\gamma} \end{cases}$$

$$\left(1 - \csc h^2 \left[\frac{1}{8} \frac{\sqrt{2}\sqrt{3 b^2 \gamma^2 + (2 \lambda ab + 16 v \lambda^2) \gamma - 5 \lambda^2 a^2} (\xi + \xi_0)}{\gamma \lambda} \right] \right)^{\frac{1}{2m}} \times e^{i(-\kappa x + \omega t + \theta)},$$

$$(2.21)$$

where Eqs. (2.20) and (2.21) represent bright and singular solitons respectively following the constraint $3 b^2 \gamma^2 + (2 \lambda ab + 16 v \lambda^2) \gamma - 5 \lambda^2 a^2 > 0$. Similarly,

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{3 b^2 \gamma^2 + 16 v \gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma}{\lambda^3 \gamma} \\ \left(1 - \sec^2 \left[\frac{1}{8} \frac{\sqrt{2} \sqrt{-(3 b^2 \gamma^2 + (2 \lambda a b + 16 v \lambda^2) \gamma - 5 \lambda^2 a^2)} (\xi + \xi_0)}{\gamma \lambda}\right]\right)^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}, \tag{2.22} \end{cases}$$

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{3b^2\gamma^2 + 16v\gamma\lambda^2 - 5\lambda^2a^2 + 2\lambda ab\gamma}{\lambda^3\gamma} \\ \left(1 - \csc^2\left[\frac{1}{8} \frac{\sqrt{2}\sqrt{-(3b^2\gamma^2 + (2\lambda ab + 16v\lambda^2)\gamma - 5\lambda^2a^2)} (\xi + \xi_0)}{\gamma\lambda}\right]\right)^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}, \end{cases}$$
(2.23)

where Eqs. (2.22) and (2.23) represent periodic singular solitons respectively. These solutions remain valid until $3 b^2 \gamma^2 + (2 \lambda ab + 16 v \lambda^2) \gamma - 5 \lambda^2 a^2 < 0$.

Case 3:

$$\kappa = \frac{1}{4} \frac{-\lambda a + \gamma b}{\gamma \lambda}, \quad m = \frac{1}{2}, \\
\omega = -\frac{1}{32} \frac{-a^3 \lambda^3 - 9 \,\lambda^2 a^2 \gamma \, b + 5 \,\lambda \, a \gamma^2 b^2 + 8 \,\lambda^3 a v \gamma + 5 \,\gamma^3 b^3 + 24 \, b \gamma^2 v \lambda^2}{\gamma^2 \lambda^3}, \\
a_0 = -\frac{1}{16} \frac{-5 \,\lambda^2 a^2 + 2 \,\lambda \, a b \gamma + 3 \, b^2 \gamma^2 + 16 \, v \gamma \,\lambda^2}{\lambda^3 \gamma}, \quad a_2 = -6 \frac{\gamma}{\lambda} \quad (2.24) \\
a_1 = 6 \,\gamma \frac{\sqrt{-\frac{1}{16} \frac{-3 \, b^2 \gamma^2 - 16 \, v \gamma \,\lambda^2 + 5 \,\lambda^2 a^2 - 2 \,\lambda \, a b \gamma}{\gamma^2}}}{\lambda^2}}{\lambda^2} \\
\left(\frac{d^3}{d\xi^3} \psi(\xi)\right) = \frac{1}{16} \frac{\left(\frac{d}{d\xi} \psi(\xi)\right) \left(-5 \,\lambda^2 a^2 + 2 \,\lambda \, a b \gamma + 3 \, b^2 \gamma^2 + 16 \, v \gamma \,\lambda^2\right)}{\gamma^2 \lambda^2}, \quad (2.25)$$

and

$$\left(\frac{d^2}{d\xi^2}\psi\left(\xi\right)\right) = \frac{\sqrt{-\frac{1}{16}\frac{-3b^2\gamma^2 - 16\,v\gamma\,\lambda^2 + 5\,\lambda^2a^2 - 2\,\lambda\,ab\gamma}{\gamma^2}}\left(\frac{d}{d\xi}\psi\left(\xi\right)\right)}{\lambda}.$$
(2.26)

From Eqs. (2.25) and (2.26), we have

$$\psi\left(\xi\right) = c_1 + c_2 e^{\frac{1}{4} \frac{\sqrt{-5\,\lambda^2 a^2 + 2\,\lambda\,ab\gamma + 3\,b^2\gamma^2 + 16\,v\gamma\,\lambda^2\xi}}{\gamma\,\lambda}},\tag{2.27}$$

and

$$\psi' = \frac{1}{4} \frac{c_2 \sqrt{-5\,\lambda^2 a^2 + 2\,\lambda\,ab\gamma + 3\,b^2 \gamma^2 + 16\,v\gamma\,\lambda^2}}{\gamma\lambda} e^{\frac{1}{4}\,\frac{\sqrt{-5\,\lambda^2 a^2 + 2\,\lambda\,ab\gamma + 3\,b^2 \gamma^2 + 16\,v\gamma\,\lambda^2} \xi}{\gamma\lambda}},$$

$$(2.28)$$

where c_1 and c_2 are arbitrary constants. So, by using Eqs. (2.27) and (2.28), we have

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{-5\lambda^{2}a^{2} + 2\lambda ab\gamma + 3b^{2}\gamma^{2} + 16v\gamma\lambda^{2}}{\lambda^{3}\gamma} \\ +\frac{3}{8} \frac{(-5\lambda^{2}a^{2} + 2\lambda ab\gamma + 3b^{2}\gamma^{2} + 16v\gamma\lambda^{2})c_{2}e^{\frac{1}{4}} \frac{\sqrt{-5\lambda^{2}a^{2} + 2\lambda ab\gamma + 3b^{2}\gamma^{2} + 16v\gamma\lambda^{2}\xi}}{\gamma\lambda}}{\lambda^{3}\gamma \left(c_{1} + c_{2}e^{\frac{1}{4}} \frac{\sqrt{-5\lambda^{2}a^{2} + 2\lambda ab\gamma + 3b^{2}\gamma^{2} + 16v\gamma\lambda^{2}\xi}}{\gamma\lambda}\right)^{2}} \\ \times e^{i(-\kappa x + \omega t + \theta)}. \end{cases}$$
(2.29)

By setting $c_1 = \pm 1$ and $c_2 = e^{\frac{1}{4} \frac{\sqrt{-5 \lambda^2 a^2 + 2 \lambda a b \gamma + 3 b^2 \gamma^2 + 16 v \gamma \lambda^2} \xi_0}{\gamma \lambda}}$, we have

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{-5\lambda^2 a^2 + 2\lambda ab\gamma + 3b^2\gamma^2 + 16v\gamma\lambda^2}{\lambda^3\gamma} \\ \left(1 - \frac{3}{2}\sec h^2 \left[\frac{1}{8} \frac{\sqrt{3b^2\gamma^2 + (2\lambda ab + 16\lambda^2 v)\gamma - 5\lambda^2 a^2}(\xi + \xi_0)}{\gamma\lambda}\right]\right)^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}. \end{cases}$$
(2.30)

$$p(x,t) = \left\{ -\frac{1}{16} \frac{-5\lambda^2 a^2 + 2\lambda ab\gamma + 3b^2\gamma^2 + 16v\gamma\lambda^2}{\lambda^3\gamma} \\ \left(1 - \frac{3}{2}\operatorname{csc} h^2 \left[\frac{1}{8} \frac{\sqrt{3b^2\gamma^2 + (2\lambda ab + 16\lambda^2 v)\gamma - 5\lambda^2 a^2} \left(\xi + \xi_0\right)}{\gamma\lambda} \right] \right)^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}.$$

$$(2.31)$$

Here Eqs. (2.30) and (2.31) respectively denotes the bright and singular solitons satisfying the constraint condition $3 b^2 \gamma^2 + (2 \lambda ab + 16 \lambda^2 v) \gamma - 5 \lambda^2 a^2 > 0$. Similarly,

$$p(x,t) = \begin{cases} -\frac{1}{16} \frac{-5\lambda^2 a^2 + 2\lambda ab\gamma + 3b^2\gamma^2 + 16v\gamma\lambda^2}{\lambda^3\gamma} \\ \left(1 - \frac{3}{2}\sec^2\left[\frac{1}{8} \frac{\sqrt{-(3b^2\gamma^2 + (2\lambda ab + 16\lambda^2 v)\gamma - 5\lambda^2 a^2)}(\xi + \xi_0)}{\gamma\lambda}\right]\right)^{\frac{1}{2m}} \\ \times e^{i(-\kappa x + \omega t + \theta)}. \end{cases}$$
(2.32)

$$p(x,t) = \left\{ -\frac{1}{16} \frac{-5\lambda^2 a^2 + 2\lambda ab\gamma + 3b^2\gamma^2 + 16v\gamma\lambda^2}{\lambda^3\gamma} \right\}$$

$$\left(1 - \frac{3}{2}\csc^{2}\left[\frac{1}{8}\frac{\sqrt{-(3\,b^{2}\gamma^{2} + (2\,\lambda\,ab + 16\,\lambda^{2}v)\,\gamma - 5\,\lambda^{2}a^{2})}\,(\xi + \xi_{0})}{\gamma\,\lambda}\right]\right)^{\frac{1}{2m}} \times e^{i(-\kappa x + \omega t + \theta)},$$
(2.33)

where κ and ω are given in the solution set Case 3. Eqs. (2.32) and (2.33) denotes periodic singular solitons which hold for the constraint $3 b^2 \gamma^2 + (2 \lambda ab + 16 \lambda^2 v) \gamma - 5 \lambda^2 a^2 < 0$.

Case 4:

$$\kappa = \frac{1}{4} \frac{-\lambda a + \gamma b}{\gamma \lambda}, \quad m = -2, \\
\omega = -\frac{1}{32} \frac{-a^3 \lambda^3 - 9 \,\lambda^2 a^2 \gamma \, b + 5 \,\lambda \, a \gamma^2 b^2 + 8 \,\lambda^3 a v \gamma + 5 \,\gamma^3 b^3 + 24 \, b \gamma^2 v \lambda^2}{\gamma^2 \lambda^3}, \\
a_0 = -\frac{1}{16} \frac{-5 \,\lambda^2 a^2 + 2 \,\lambda \, a b \gamma + 3 \, b^2 \gamma^2 + 16 \, v \gamma \,\lambda^2}{\lambda^3 \gamma}, \quad a_2 = \frac{1}{4} \frac{\gamma}{\lambda}, \quad (2.34) \\
a_1 = \frac{1}{4} \frac{\sqrt{5 \,\lambda^2 a^2 - 2 \,\lambda \, a b \gamma - 3 \, b^2 \gamma^2 - 16 \, v \gamma \,\lambda^2}}{\gamma^2}.$$

$$\left(\frac{d^3}{d\xi^3}\psi\left(\xi\right)\right) = -\frac{1}{4}\frac{\left(\frac{d}{d\xi}\psi\left(\xi\right)\right)\left(-5\lambda^2a^2 + 2\lambda\,ab\gamma + 3\,b^2\gamma^2 + 16\,v\gamma\,\lambda^2\right)}{\gamma^2\lambda^2}, \quad (2.35)$$

and

$$\left(\frac{d^2}{d\xi^2}\psi\left(\xi\right)\right) = -\frac{1}{2}\frac{\sqrt{5\,\lambda^2 a^2 - 2\,\lambda\,ab\gamma - 3\,b^2\gamma^2 - 16\,v\gamma\,\lambda^2}\left(\frac{d}{d\xi}\psi\left(\xi\right)\right)}{\gamma\,\lambda}.$$
 (2.36)

From Eqs. (2.36) and (2.35), we have

$$\psi(\xi) = c_1 + c_2 e^{-\frac{1}{2} \frac{\sqrt{-3 b^2 \gamma^2 - 16 v\gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma \xi}}{\lambda \gamma}}, \qquad (2.37)$$

and

$$\psi' = -\frac{1}{2} \frac{c_2 \sqrt{-3 b^2 \gamma^2 - 16 v \gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma} e^{-\frac{1}{2} \frac{\sqrt{-3 b^2 \gamma^2 - 16 v \gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma \xi}}{\lambda \gamma}},$$

$$(2.38)$$

where c_1 and c_2 are arbitrary constants. By setting $c_1 = \pm 1$ and $c_2 = e^{-\frac{1}{2} \frac{\sqrt{-3 b^2 \gamma^2 - 16 v \gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma} {\lambda \gamma}}}$, we have

$$p(x,t) = \left\{ -\frac{1}{16} \frac{3 b^2 \gamma^2 + 16 v \gamma \lambda^2 - 5 \lambda^2 a^2 + 2 \lambda a b \gamma}{\gamma \lambda^3 \left(1 + e^{-\frac{1}{2} \frac{\sqrt{-3 b^2 \gamma^2 - 16 v \gamma \lambda^2 + 5 \lambda^2 a^2 - 2 \lambda a b \gamma}(\xi + \xi_0)}{\lambda \gamma} \right)^2} \right\}^{\frac{1}{2m}} \times e^{i(-\kappa x + \omega t + \theta)}.$$
(2.39)

which is not a stable soliton because m = -2. It suggests that the soliton solutions exists when 0 < m < 2.

2.2. The $\exp(-\varphi(q))$ method

In this section, the extraction of solitons for the RKL equation is carried out. The power law nonlinearity is considered. To start with, we assume the solution of Eqs.

(1.6) and (1.8) is of the following form

$$U(q) = \sum_{i=0}^{N} a_i (e^{-\varphi(q)})^i, a_N \neq 0, \qquad (2.40)$$

where $\varphi = \varphi(q)$ satisfies the following ODE:

$$\varphi'(q) + \zeta \exp(\varphi(q)) + \eta \exp(-\varphi(q)) = 0$$
(2.41)

 ζ and η are arbitrary constants.

Eq. (2.41) enjoys the subsequent solutions forms

$$\varphi(q) = -\ln\left(\sqrt{\frac{\zeta}{\eta}} \tan[\sqrt{\zeta\eta}(q+q_0)]\right), \ \zeta\eta > 0$$

$$\varphi(q) = -\ln\left(-\sqrt{\frac{\zeta}{\eta}} \cot[\sqrt{\zeta\eta}(q+q_0)]\right), \ \zeta\eta > 0$$

$$\varphi(q) = -\ln\left(-\sqrt{\frac{\zeta}{-\eta}} \tanh[\sqrt{-\zeta\eta}(q+q_0)]\right), \ \zeta\eta < 0$$

$$\varphi(q) = -\ln\left(\sqrt{\frac{\zeta}{-\eta}} \coth[\sqrt{-\zeta\eta}(q+q_0)]\right), \ \zeta\eta < 0$$

$$\varphi(q) = \ln\left(-\frac{1}{\eta(q+q_0)}\right), \ \zeta = 0, \ \eta > 0,$$
(2.42)

where q_0 is an integration constant and $\zeta \eta > 0$ or $\zeta \eta < 0$ depends $\lambda' s$ sign. The value of N determined as earlier is

$$N = 2. \tag{2.43}$$

Therefore,

$$\phi(q) = a_0 + a_1 \exp(-\varphi(q)) + a_2 \exp(-\varphi(q))^2.$$
(2.44)

Now, Plugging the values of U and U'' in Eqs. (1.6) and (1.8) using Eq. (2.41), and comparing coefficients of $\exp(-i\varphi(q))$, i = 0, 1, 2, 3, 4, 5 and 6, an nonlinear algebraic system of equations is gained $\exp(-0\varphi(q))$ coeff:

$$4 m^{2} (\omega + a\kappa^{2} + \gamma \kappa^{3}) a_{0}^{2} - 4 m^{2} (b - \lambda \kappa) a_{0}^{3} - (a + 3\gamma \kappa) ((1 - 2m) a_{1}^{2} \eta^{2} + 2ma_{0} (\zeta \eta a_{1} + 2a_{2} \eta^{2})) = 0,$$

$$4 m^{2} (v + 2a\kappa + 3\gamma \kappa^{2}) a_{0}^{2} + 4m^{2} \lambda a_{0}^{3} + \gamma ((1 - 2m) a_{1}^{2} \eta^{2} + 2ma_{0} (\zeta \eta a_{1} + 2a_{2} \eta^{2})) = 0.$$

 $\exp(-1 \varphi(q))$ coeff:

$$-12 m^{2} (b-\lambda \kappa) a_{0}^{2} a_{1}+8 m^{2} (\omega+a\kappa^{2}+\gamma \kappa^{3}) a_{0} a_{1}-(a+3\gamma \kappa) (-2 (1-2m)) a_{1} \eta (-\zeta a_{1}-2 a_{2} \eta) +2 m a_{0} (6 a_{2} \zeta \eta+2 a_{1} \eta+\lambda^{2} a_{1})+2 m a_{1} (\zeta \eta a_{1}+2 a_{2} \eta^{2}) = 0,$$

$$12 m^{2} \lambda a_{0}^{2} a_{1} + 8 m^{2} \left(v + 2 a \kappa + 3 \gamma \kappa^{2} \right) a_{0} a_{1} + \gamma \left(-2 \left(1 - 2 m \right) a_{1} \eta \left(-\zeta a_{1} - 2 a_{2} \eta \right) \right) \\ + 2 m a_{0} \left(6 a_{2} \zeta \eta + 2 a_{1} \eta + \lambda^{2} a_{1} \right) + 2 m a_{1} \left(\zeta \eta a_{1} + 2 a_{2} \eta^{2} \right) \right) = 0.$$

$$\exp(-2 \varphi(q)) \text{ coeff:}$$

$$- 4 m^{2} \left(b - \lambda \kappa \right) \left(a_{0} \left(2 a_{0} a_{2} + a_{1}^{2} \right) + 2 a_{1}^{2} a_{0} + a_{2} a_{0}^{2} \right) + 4 m^{2} \left(\omega + a \kappa^{2} + \gamma \kappa^{3} \right) \\ \left(2 a_{0} a_{2} + a_{1}^{2} \right) - \left(a + 3 \gamma \kappa \right) \left(\left(1 - 2 m \right) \left(-2 a_{1} \eta \left(-2 a_{2} \zeta - a_{1} \right) + \left(-\zeta a_{1} - 2 a_{2} \eta \right)^{2} \right) \right) \\ + 2 m a_{0} \left(4 \lambda^{2} a_{2} + 3 \zeta a_{1} + 8 a_{2} \eta \right) + 2 m a_{1} \left(6 a_{2} \zeta \eta + 2 a_{1} \eta + \lambda^{2} a_{1} \right) \\ + 2 m a_{2} \left(\zeta \eta a_{1} + 2 a_{2} \eta^{2} \right) \right) = 0,$$

$$4 m^{2} \lambda \left(a_{0} \left(2 a_{0} a_{2} + a_{1}^{2} \right) + 2 a_{1}^{2} a_{0} + a_{2} a_{0}^{2} \right) + 4 m^{2} \left(v + 2 a \kappa + 3 \gamma \kappa^{2} \right) \left(2 a_{0} a_{2} + a_{1}^{2} \right) \\ + \gamma \left(\left(1 - 2 m \right) \left(-2 a_{1} \eta \left(-2 a_{2} \zeta - a_{1} \right) + \left(-\zeta a_{1} - 2 a_{2} \eta \right)^{2} \right) \right) \\ + 2 m a_{0} \left(4 \lambda^{2} a_{2} + 3 \zeta a_{1} + 8 a_{2} \eta \right) + 2 m a_{1} \left(6 a_{2} \zeta \eta + 2 a_{1} \eta + \lambda^{2} a_{1} \right) \\ + 2 m a_{0} \left(4 \lambda^{2} a_{2} + 3 \zeta a_{1} + 8 a_{2} \eta \right) + 2 m a_{1} \left(6 a_{2} \zeta \eta + 2 a_{1} \eta + \lambda^{2} a_{1} \right) \\ + 2 m a_{2} \left(\zeta \eta a_{1} + 2 a_{2} \eta^{2} \right) = 0.$$

 $\exp(-3 \varphi(q))$ coeff:

$$\begin{split} 8\,m^{2}\left(\omega + a\kappa^{2} + \gamma\,\kappa^{3}\right)a_{1}a_{2} - 4\,m^{2}\left(b - \lambda\,\kappa\right)\left(4\,a_{0}a_{1}a_{2} + a_{1}\left(2\,a_{0}a_{2} + a_{1}^{2}\right)\right)\\ &- \left(a + 3\,\gamma\,\kappa\right)\left(2\,ma_{0}\left(10\,\zeta\,a_{2} + 2\,a_{1}\right) + 2\,ma_{1}\left(4\,\lambda^{2}a_{2} + 3\,\zeta\,a_{1} + 8\,a_{2}\eta\right)\right)\\ &+ 2\,ma_{2}\left(6\,\zeta\,a_{2}\eta + 2\,a_{1}\eta + \lambda^{2}a_{1}\right) + \left(1 - 2\,m\right)\left(4\,a_{1}\eta\,a_{2}\right)\\ &+ 2\left(-\zeta\,a_{1} - 2\,a_{2}\eta\right)\left(-2\,\zeta\,a_{2} - a_{1}\right)\right)\right) = 0,\\ 8\,m^{2}\left(v + 2\,a\kappa + 3\,\gamma\,\kappa^{2}\right)a_{1}a_{2} + 4\,m^{2}\lambda\left(4\,a_{0}a_{1}a_{2} + a_{1}\left(2\,a_{0}a_{2} + a_{1}^{2}\right)\right)\\ &+ \gamma\left(2\,ma_{0}\left(10\,\zeta\,a_{2} + 2\,a_{1}\right) + 2\,ma_{1}\left(4\,\lambda^{2}a_{2} + 3\,\zeta\,a_{1} + 8\,a_{2}\eta\right)\right)\\ &+ 2\,ma_{2}\left(6\,\zeta\,a_{2}\eta + 2\,a_{1}\eta + \lambda^{2}a_{1}\right) + \left(1 - 2\,m\right)\left(4\,a_{1}\eta\,a_{2}\right)\\ &+ 2\left(-\zeta\,a_{1} - 2\,a_{2}\eta\right)\left(-2\,\zeta\,a_{2} - a_{1}\right)\right)\right) = 0. \end{split}$$

 $\exp(-4 \varphi(q))$ coeff:

$$4 m^{2} (\omega + a\kappa^{2} + \gamma \kappa^{3}) a_{2}^{2} - 4 m^{2} (b - \lambda \kappa) (a_{0}a_{2}^{2} + 2a_{1}^{2}a_{2} + a_{2} (2a_{0}a_{2} + a_{1}^{2})) - (a + 3\gamma \kappa) ((1 - 2m) (-4 (-\zeta a_{1} - 2a_{2}\eta) a_{2} + (-2\zeta a_{2} - a_{1})^{2}) + 12 ma_{0}a_{2} + 2ma_{1} (10\zeta a_{2} + 2a_{1}) + 2ma_{2} (4\lambda^{2}a_{2} + 3\zeta a_{1} + 8a_{2}\eta)) = 0, 4 m^{2} (v + 2a\kappa + 3\gamma \kappa^{2}) a_{2}^{2} + 4m^{2}\lambda (a_{0}a_{2}^{2} + 2a_{1}^{2}a_{2} + a_{2} (2a_{0}a_{2} + a_{1}^{2})) + \gamma ((1 - 2m) (-4 (-\zeta a_{1} - 2a_{2}\eta) a_{2} + (-2\zeta a_{2} - a_{1})^{2}) + 12 ma_{0}a_{2} + 2ma_{1} (10\zeta a_{2} + 2a_{1}) + 2ma_{2} (4\lambda^{2}a_{2} + 3\zeta a_{1} + 8a_{2}\eta)) = 0.$$

 $\exp(-5 \varphi(q))$ coeff:

$$-12 m^{2} (b - \lambda \kappa) a_{1} a_{2}^{2} - (a + 3 \gamma \kappa) \left(-4 (1 - 2 m) (-2 \zeta a_{2} - a_{1}) a_{2} + 12 m a_{1} a_{2}\right)$$

+ 2 ma₂ (10
$$\zeta a_2$$
 + 2 a₁)) = 0,
12 m² $\lambda a_1 a_2^2$ + $\gamma (-4 (1 - 2m) (-2 \zeta a_2 - a_1) a_2 + 12 m a_1 a_2 + 2 m a_2 (10 \zeta a_2 + 2 a_1)) = 0.$

 $\exp(-6 \varphi(q))$ coeff:

$$-4 m^{2} (b - \lambda \kappa) a_{2}^{3} - (a + 3 \gamma \kappa) (4 (1 - 2m) a_{2}^{2} + 12 m a_{2}^{2}) = 0,$$

$$4 m^{2} \lambda a_{2}^{3} + \gamma (4 (1 - 2m) a_{2}^{2} + 12 m a_{2}^{2}) = 0.$$

Solving this algebraic system of equations gives

$$\begin{split} v &= -\frac{1}{16} \, \frac{2 \, m^2 a \lambda \, b \gamma + 3 \, m^2 b^2 \gamma^2 - 5 \, m^2 a^2 \lambda^2 - 16 \, \gamma^2 \zeta \, \eta \, \lambda^2}{\gamma \, \lambda^2 m^2} \\ \omega &= -\frac{1}{64} \, \frac{3 \, m^2 a^3 \lambda^3 - 5 \, m^2 a^2 \lambda^2 b \gamma + m^2 a \lambda \, b^2 \gamma^2 + m^2 b^3 \gamma^3 + 16 \, \gamma^2 a \zeta \, \eta \, \lambda^3 + 48 \, \gamma^3 \zeta \, \eta \, \lambda^2 b}{\lambda^3 m^2 \gamma^2} \\ \kappa &= \frac{1}{4} \, \frac{-a \lambda + b \gamma}{\gamma \, \lambda}, \quad a_0 = -\frac{\gamma \, \zeta \, \eta \, (m+1)}{m^2 \lambda}, \\ a_1 &= 0, \quad a_2 = -\frac{\gamma \, \eta^2 \, (m+1)}{m^2 \lambda}, \end{split}$$

Hence, Periodic, dark, singular and plain wave solutions along with their validity conditions are given below respectively as

$$p_{1,2}(x,t) = -\frac{\gamma\zeta\eta(m+1)}{m^2\lambda} - \frac{\gamma\eta^2(m+1)}{m^2\lambda} \left[\sqrt{\frac{\zeta}{\eta}}\tan(\sqrt{\zeta\eta}(q+q_0))\right]^2$$

$$\times e^{i(-\kappa x + \omega t + \gamma)}, \text{ where } \zeta\eta > 0.$$
(2.45)

$$p_{3,4}(x,t) = -\frac{\gamma\zeta\eta(m+1)}{m^2\lambda} - \frac{\gamma\eta^2(m+1)}{m^2\lambda} \left[-\sqrt{\frac{\zeta}{\eta}}\cot(\sqrt{\zeta\eta}(q+q_0)) \right]^2$$

$$\times e^{i(-\kappa x + \omega t + \gamma)}, \text{ where } \zeta\eta > 0.$$
(2.46)

$$p_{5,6}(x,t) = -\frac{\gamma\zeta\eta(m+1)}{m^2\lambda} - \frac{\gamma\eta^2(m+1)}{m^2\lambda} \left[-\sqrt{\frac{\zeta}{-\eta}} \tanh(\sqrt{-\zeta\eta}(q+q_0)) \right]^2$$
(2.47)
 $\times e^{i(-\kappa x + \omega t + \gamma)}, \text{ where } \zeta\eta < 0.$

$$p_{7,8}(x,t) = -\frac{\gamma\zeta\eta(m+1)}{m^2\lambda} - \frac{\gamma\eta^2(m+1)}{m^2\lambda} \left[\sqrt{\frac{\zeta}{-\eta}}\coth(\sqrt{-\zeta\eta}(q+q_0))\right]^2 \qquad (2.48)$$
$$\times e^{i(-\kappa x + \omega t + \gamma)}, \text{ where } \zeta\eta < 0.$$



Figure 3. Dark soliton given in Eqs. (2.47).



Figure 4. 2-D plot of solution given in Eq. (2.47) for different value of index m.

3. Modulation Instability

Modulation instability based on linear stability analysis [2] is carried out for Eq. (1.2) with m = 1 which has the subsequent steady-state solution [2]

$$p(x,t) = [\sqrt{I_0} + q(x,t)] \times e^{ibI_0 t},$$
(3.1)

where I_0 is the incident power. To study the evolution of the perturbation q(x,t), Eq. (3.1) is substituted into Eq. (1.2) and is linearized in q has the following form

$$iq_t + aq_{xx} + bI_0 (q + q^*) = i\lambda I_0 (2q_x + q_x^*) - i\gamma q_{xxx}$$
(3.2)

where q^* is complex conjugate of q. Due to the presentation q^* , we assume

$$q(x,t) = q_1 e^{i(Kx - \Omega t)} + q_2 e^{-i(Kx - \Omega t)}, \qquad (3.3)$$

where K is the wave number and Ω is the frequency. Substituting Eq. (3.3) in Eq. (3.2), a system of two homogeneous equations in q_1 and q_2 is retrieved which gives the following dispersion relation

$$\Omega = \left(\gamma K^2 - 2\lambda I_0 \pm \sqrt{\lambda^2 {I_0}^2 + K^2 a^2 - 2 a b I_0}\right) K.$$
(3.4)

It is evident from the dispersion relation (3.4) that the steady-state stability depends on self-steepening, GVD as well as the incident power. The steady state is stable whenever $\lambda^2 I_0^2 + K^2 a^2 - 2 a b I_0 > 0$ but the modulation instability comes into play when $\lambda^2 I_0^2 + K^2 a^2 - 2 a b I_0 < 0$ because in such a case the perturbation grows exponentially. Modulation instability gain is given by

$$G = |\text{Im}\Omega| = |\text{Im}\left(\gamma K^2 - 2\lambda I_0 \pm \sqrt{\lambda^2 I_0^2 + K^2 a^2 - 2abI_0}\right)K|.$$
 (3.5)



Figure 5. Modulation instability gain in terms of wave number for different values of nonlinear coefficient.



Figure 6. Modulation instability gain in terms of wave number for different incident powers I_0 with $\lambda = 0.4$, a = 1, b = 1 and $\gamma = 1$.



Figure 7. Modulation instability gain in terms of wave number for different values of λ with $I_0 = 0.2$, a = 1, b = 10 and $\gamma = 1$.

4. Results and Discussion

The results retrieved here are bright, dark, singular, periodic and plane wave solutions. Solutions in (2.10) retrieved through modified simple equation method are visualized through 3-D and 2-D graphical depictions portrayed in Figure 1 and Figure 2 respectively. As we know that the power law nonlinearity induces the same shape profile as given in Eq. (2.10). Also the width and height of the soliton depends on the index of nonlinearity m [27, 28]. It can easily be observed that for the infinitesimal value of index requires a gigantic width. So, if $m \to 0$ the soliton becomes a plane wave as shown in Figure 1(a). It is also observed that the soliton concentration is highly sensitive to the value of nonlinearity near m = 2 and the soliton width decreases drastically for 1 < m < 2. So for $m \geq 2$, the soliton pro-

file becomes unstable and portrays a self focusing singularity which is highlighted through Figure 1 and 2.

Similarly, the 3-D and 2-D graphs of soliton solution given in Eq.(2.47) are portrayed in Figure 3 and Figure 4 respectively which are obtained through $\exp(-\varphi(q))$. From Eq. (2.47) the soliton solution represents a self focusing singularity near $m \to 0$. Unlike the bright soliton given in Eq. (2.10), the width of the soliton profile given in Eq. (2.47) increases as the index of nonlinearity increases and represents a plane wave near $m \to \infty$. The argument is supported by the graphs in Figure 3 and Figure 4.

In section 3, the modulation instability analysis of Eq. (1.2) is carried out. A dispersion relation (3.4) is obtained for the frequency in terms of wave number. The role of different parameters on the gain spectrum G(K) is studied in Fig 5, 6 and 7. In Fig 5, it is clearly observed that the gain spectrum G(K) is symmetric with K = 0. It is deduced that the gain spectrum increases with increase in b for given fixed values of $\lambda = 1$ (self-steepening) and $I_0 = 1$ (Incident power). From Fig 6, we can conclude that the instability gain spectrum increases with an increase in incident power I_0 by fixing $\lambda = 0.4$ and b = 1. On the other hand, we see that the modulation instability gain spectrum decreases with an increase in self-steepening λ . It is noticed that the third order dispersion plays no role in modulation instability which is quite obvious from Eq. (3.5) and [29, 32].

5. Conclusion

In this work, we have extracted soliton solutions of RKL model incorporating the power law nonlinearity. The extraction process is aided through reliable integration tools namely, the modified simple equation method and the $\exp(-\varphi(q))$ method. The bright, dark, singular, periodic, plane wave and other solutions are retrieved. The solutions extracted through modified simple equation method are catagorized in four different cases on the basis of values of nonlinearity index m. The bright soliton profile in Eq. (2.10) is highlighted through 2 and 3-dimensional graphs. It is observed graphically that the soliton profile is stable only for 0 < m < 2and the case 4 assists this argument. Similarly the solutions retrieved through $\exp(-\varphi(q))$ method are given. The physical aspects of the stability of the dark soliton profile given in Eq. (2.47) are highlighted through 2 and 3-dimensional graphs. The modulation instability analysis for the RKL model is carried out to extract a dispersion relation between K and Ω . The effect of different parameters on the Modulation instability gain spectrum is also studied. Therefore, the research provides an excellent additive to the existing literature and gives a valuable insight towards the spatio-temporal solitons of the power law nonlinearity.

6. Conflict of interest

The authors declare that there is no conflict of interest.

References

[1] A. H. Arnous, M. Mirzazadeh, Q. Zhou, S. P. Moshokoa, A. Biswas and M. Belic, Soliton solutions to resonant nonlinear schrodingers equation with time-

dependent coefficients by modified simple equation method, Optik., 2016, 127, 11450–11459.

- [2] G. P. Agrawal, Nonlinear Fiber Optics (5th Edition), Academic Press, New York 2013.
- [3] A. Biswas and S. Konar, Introduction to Non-Kerr Law Optical Solitons, CRC Press, Boca Raton, 2006.
- [4] A. Biswas, 1-Soliton solution of the generalized Radhakrishnan, Kundu, Lakshmanan equation, Phys. Lett. A., 2009, 373(30), 2546–2548.
- [5] M. Ekici, A. Sonmezoglu, Q. Zhou, A. Biswas, M. Z. Ullah, M. Asma, S. P. Moshokoa and M. Belic, Optical solitons in DWDM system by extended trial equation method, Optik., 2017, 141, 157–167.
- [6] M. Ekici, A. Sonmezoglu, Q. Zhou, S. P. Moshokoa, M. Z. Ullah, A. Biswas and M. Belic, *Solitons in magneto-optic waveguides by extended trial function scheme*, Superlattices Microstruct., 2017, 107, 197–218.
- [7] M. Ekici, M. Mirzazadeh, A. Sonmezoglu, M. Z. Ullah, Q. Zhou, S. P. Moshokoa, A. Biswas and M. Belic, *Nematicons in liquid crystals by extended trial equation method*, J. Nonlinear Opt. Phys. Mater., 2017, 26, 1750005.
- [8] M. Ekici, M. Mirzazadeh, A. Sonmezoglu, M. Z. Ullah, Q. Zhou, H. Triki, S. P. Moshokoa and A. Biswas, *Optical solitons with anti-cubic nonlinearity by extended trial equation method*, Optik., 2017, 136, 368–373.
- [9] D. D. Ganji and M. Abdollahzadeh, Exact traveling solutions for the Lax's seventh-order KdV equation by sech method and rational exp-function method, Appl. Math. Comput., 2008, 206(1), 438–444.
- [10] X. Geng and Y. Lv, Darboux transformation for an integrable generalization of the nonlinear Schrdinger equation, Nonlinear Dyn., 2012, 69, 1621–1630.
- [11] D. D. Ganji and M. Abdollahzadeh, Exact traveling solutions for the Lax's seventh-order KdV equation by sech method and rational exp-function method, Appl. Math. Comput., 2008, 206(1), 438–444.
- [12] D. D. Ganji, A. Asgari and Z.Z. Ganji, Exp-function based solution of nonlinear Radhakrishnan, Kundu and Laskshmanan (RKL) equation, Acta Appl. Math., 2008, 104(2), 201–209.
- [13] A. Javid and N. Raza, Singular and dark optical solitons to the well posed Lakshmanan, Porsezian, Daniel model, Optik., 2018, 171, 120–129.
- [14] R. Kohl, A. Biswas, D. Milovic and E. Zerrad, Optical soliton perturbation in a non-Kerr law media, Opt. Laser Technol., 2008, 40(4), 647–662.
- [15] L. Q. Kong and C. Q. Dai, Some discussions about variable separation of nonlinear models using Riccati equation expansion method, Nonlinear Dyn., 2015, 81(3), 1553–1561.
- [16] R. Kohl, D. Milovic, E. Zerrad and A. Biswas, Optical solitons by He's variational principle in a non-Kerr law media, J. Infrared Millim. Terahertz Waves., 2009, 30(5), 526–537.
- [17] S. Kumar, K. Singh and R. K. Gupta, Coupled Higgs field equation and Hamiltonian amplitude equation: Lie classical approach and G'/G-expansion method, Pramana, 2012, 79, 41–60.

- [18] R. Kohl, A. Biswas, D. Milovic and E. Zerrad, Optical soliton perturbation in a non-Kerr law media, Opt. Laser Technol., 2008, 40(4), 647–662.
- [19] R. Kohl, D. Milovic, E. Zerrad and A. Biswas, Optical solitons by Hes variational principle in a non-Kerr law media, J. Infrared Millim. Terahertz Waves., 2009, 30(5), 526–537.
- [20] C. S. Liu, Representations and classification of traveling wave solutions to sinh-Gordon equation, Commun. Theor. Phys., 2008, 49(1), 153–158.
- [21] C. S. Liu, Applications of complete discrimination system for polynomial for classifications of traveling wave solutions to nonlinear differential equations, Comput. Phys. Commun., 2010, 181(2), 317–324.
- [22] M. Mirzazadeh, M. Eslami, E. Zerrad, M. F. Mahmood, A. Biswas and M. Belic, Optical solitons in nonlinear directional couplers by sine-cosine function method and Bernoulli's equation approach, Nonlinear Dyn., 2015, 81(4), 1933–1949.
- [23] M. Mirzazadeh, M. Eslami, E. Zerrad, M. F. Mahommd, A. Biswas and M. Belic, Optical solitons in nonlinear directional couplers by sine-cosine function method and Bernoullis equation approach, Nonlinear Dyn., 2015, 81(4), 1933–1949.
- [24] N. Raza and A. Javid, Optical dark and singular solitons to the Biswas-Milovic equation in nonlinear optics with spatio-temporal dispersion, Optik., 2018, 158, 1049–1057.
- [25] V. N. Serkin, A. Hasegawa and T. L. Belyaeva, Nonautonomous solitons in external potentials, Phys. Rev. Lett., 2007, 98, 074102.
- [26] B. Sturdevant, D. A. Lott and A. Biswas, Topological 1-soliton solution of generalized Radhakrishnan Kundu Lakshmanan equation with nonlinear dispersion, Mod. Phys. Lett. B, 2010, 24, 1825–1831.
- [27] A. W. Snyder and D. J. Mitchell, Spatial solitons of the power law nonlinearity, Optics Lett., 1993, 18(2), 101–103.
- [28] S.Gangopadhyay and S. N. Sarkar, Variation analysis of spatial solitons of power law nonlinearity, Fib. Int. Optic., 2001, 20(2), 191–196.
- [29] V. A. Vysloukh and N. A. Sukhotskova, Influence of third-order dispersion on the generation of a train of picosecond pulses in fiber waveguides due to selfmodulation instability, Sov. J. Quantum Electron., 1987, 17(11), 1509–1511.
- [30] Y. Y. Wang and C. Q. Dai, Caution with respect to 'new' variable separation solutions and their corresponding localized structures, Appl. Math. Model., 2016, 40(5-6), 3475-3482.
- [31] G. Q. Xu, Extended auxiliary equation method and its applications to three generalized NLS equations, Abstr. Appl. Anal., 2014, 2014, 1–7.
- [32] Y. Xiang, S. Wen, X. Dai, Z. Tang, W. Su and D. Fan, Modulation instability induced by nonlinear dispersion in nonlinear metamaterials, Opt. Lett., 2007, 24(12), 3058–3063.
- [33] J. L. Zhang and M. L. Wang, Various exact solutions for two special type RKL models, Chaos Solitons Fractals, 2008, 37(1), 215–226.